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® _I_Eon_l' —_—== S H oo ™= (DOCZVGC) = °|_H:|'-
#docvec parameters ¥ AT 2=
cores = mult iprncessing CpU I:IIILII'Itl::I doc_vectorizer = docPvec,Doc2Vec(size=300, alpha=0,025, min_alpha=0.025, seed=1234)
B doc_vectorizer.bui (d_vocabi tagged_train_docs)
veu:tnr_aize = 300 # Train document wectors!
\ \ _ for epoch in range(l10):
'|'|'II'II:|I:I'|'|'_SIEE =15 doc_vectorizer.train(tagged_train_docs, total_esamples=doc_vectorizer,corpus_count, epochs=doc_wectorizer, iter)
word_min_count = ¢ doc_vectorizer.alpha —= 0,002 4 decrease the learning rate
. doc_vectorizer.min_alpha = doc_vectorizer.alpha # fix the learning rate, no decay
sampling_threshold = Te-h
negative_size = 5 #T0 save
train_epoch = 100 doc_vectorizer.save( "model fdoc?vec.mode| ™) # docfvec.mode| (AFFE AATHTE

dii = 1 2. Training data® At S T
wurker |:|:||_||'|t = cores # train datal2 OF= ALH S loadEHCH.

doc_wectorizer = Doc2Yec. load( "mode | AdocZvec . model ™)

. A o
1.Doc2vec train data parameters A& otC} fEEE om M M
train_x = [doc_vectorizer.infer_vector{doc.words) for doc in tagged_train_docs]
train_y = [doc.tags[0] for doc in tagged_train_docs]
test_x [doc_wectarizer. infer_vector({doc.words) for doc in tagged_test_docs]

I-I - — OI ot 700/ E [ - E:—" =3 test_y = [doc.tags[0] for doc im tagged_test_docs)
o= = (o) = 2=

. classifier = LogisticRegression(random_state=1234)
AMAiSE A O
o OOE T }AEI- classifier. fit{train_«. train_w)

# HAE socre =0 HES
print({ classifier.score{test_x, test_w) )
# 0.66712

# save the model to disk

filename = "modelsf inal ized_model .sav”
pickle.dumpiclassifier, openi(filename, “wb™ 1)

3. Training data® TS model2 test dataZ testPtCt.
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1. 410l =2t&, =
2. 474 2MZ 0|89t HO|H &4

3. 278 240| B A8 =3
- def=m, =2t

1 2 3'H9| Python 2 Dockerize A|7{A A}839tC},

Dockerize AMl7|™H O 2 HRLIE|0|M HIO|EE F&ET = A2
ol ust 2% £40| 7}-ssHEICt.
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